
NEERSLAGREACTIES



IJZERDINITRAAT

 Geen neerslag

Fe2+ + 2NO-
3  Fe(NO3)2



IJZERSULFAAT

 geen neerslag

Fe2+ + SO2-
4 FeSO4



IJZERDICHLORIDE

 neerslag

Fe2+ + 2Cl-  FeCl2



IJZERDIBROMIDE

geen neerslag

Fe2+ + 2Br-
 FeBr2



IJZERCARBONAAT

 Neerslag

Fe2+ + CO2-
3 FeCO3



IJZERDIWATERSTOFCARBONAAT

 Neerslag

Fe2+ + 2HCO-
3 Fe(HCO3)2



IJZERDINITRIET

neerslag

Fe2+ + 2NO2
-
 Fe(NO)2



IJZERDICHLORAAT

geen neerslag

Fe2+ + 2ClO-
3 Fe(ClO3)2



IJZERDIFOSFAAT

 Neerslag

3Fe2+ + 2PO3-
4 Fe3(PO4)2



IJZERDIFLUORIDE

geen neerslag

Fe2+ + 2F-
 FeF2



IJZERDIJODAAT

geen neerslag

Fe2+ + 2IO3
-
 Fe(IO3)2



IJZERSULFIET

neerslag

Fe2+ + SO2-
3  FeSO3



IJZERDIHYDROXIDE

 Neerslag

Fe2+ + 2OH-
 Fe(OH)2



IJZERSULFIDE

 Neerslag

Fe2+ + S2-
 FeS


